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ITERATIVE METHOD FOR MIRROR-SYMMETRIC
SOLUTION OF MATRIX EQUATION AXB+CYD=F

J.-F. LI*, X.-Y. HU, X.-F. DUAN AND L. ZHANG

Communicated by Mohammad Asadzadeh

ABSTRACT. Mirror-symmetric matrices have important applications
in studying odd/even-mode decomposition of symmetric-multicon-
ductor transmission lines (MTL). In this paper, we propose an it-
erative algorithm to solve the mirror-symmetric solution of matrix
equation AXB + CYD = E. With it, the solvability of the equa-
tion over mirror-symmetric X, Y can be determined automatically.
When the equation is consistent, its solution can be obtained within
finite iteration steps, and its least-norm mirror-symmetric solution
can be obtained by choosing a special kind of initial iteration ma-
trices. Furthermore, the related optimal approximation problem is
also solved. Numerical examples are given to show the efficiency of
the presented method.

1. Introduction

Real or complex matrices of rather high order are commonly en-
countered in real physical systems analysis. Usually, a physical sys-
tem possesses certain geometrical symmetry. Mirror symmetry is the
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most common one. Interaction matrices of mirror-symmetric structures
are centrosymmetric while one component or only one component is on
the mirror plane. Centrosymmetric matrices play an important role in a
number of areas such as pattern recognition, antenna theory, mechanical
and electrical systems, quantum physics, and electrical packaging analy-
sis [I]. While there is more than one component on the mirror plane, the
mirror-symmetric matrix, which is originally proposed by Li and Feng
[2], is the one and the only one that can reflect the structure properly.
The background for introducing the concept of mirror-symmetric matrix
is to study odd/even-mode decomposition of symmetric multiconductor
transmission lines (MTL) [2] 3] [4].

Definition 1.1. An (r, p)-mirror matrix W, , is defined by

Iy
Wirp) =
T
where I, is the p-square identity matrix and J, is the r-square back-
ward identity matrix with ones along the secondary diagonal and zero
elsewhere.

The dimension of the (r,p)-mirror matrix.is'n = 2r + p, where r >
1,p > 0. The (r,p)-mirror matrix W (p) is orthogonal and symmetric,
ie, Wt = WT = W. When p = 0 or 1, mirror matrix Wirp) s
backward identity matrix Jy:

Definition 1.2. A matrix M € R@"+P)x(27+p) i5 called the (r, p)-mirror
symmetric matrix‘if and only if

(1.1) M =W ) MW,

We denote the set of all (r, p)-mirror-symmetric matrices by M S, ).

™,p)*

From Definition [I.2] it is easy to see that the (k, 1)-mirror-symmetric
matricesrand the (k,0)-mirrorsymmetric matrices are centrosymmetric
matrices. < That is to say, all centrosymmetric matrices are the spe-
cial cases of mirror-symmetric matrices; i.e., when p = 0 or 1, mir-
ror matrix W, ) is backward identity matrix J,. Then, becomes
M = J, M J,, which is the definition of centrosymmetric matrices [5].

Throughout this paper, we denote the sets of all m x n real matrices
by R™*". For a matrix A € R™*", we denote its transpose by A”. On
R™" we define inner product: (A, B) = trace(BT A), for all A, B €
R™*™, Then, R™*"™ is a Hilbert inner product space and the norm of a
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matrix generate by this inner product is the Frobenious norm, denoted

by |[.I
We study the following problems.

Problem I. For given matrices A € RSX@HP), B € R(2T+p)Xt7 ¢ e
RSX(Q}H_q), D e R(2h+q)><t, and E € RSXt, find X € MS(MD) and Y €
MS 3, 4) such that

(1.2) AXB+CYD=E.

Problem II. When Problem I is consistent, let Sg be the set of mirror-
symmetric solution of Problem I. For given matrices X € M, ) and

Y € MS,q), find [X,Y] € Sg such that

(13) X - X|P+ Y =Y|*= min [|X - X2+ ¥~ Y]
[X,Y}ESE

In fact, Problem II is to find the optimal approximation solutions
to the given matrix pair [Xg, Yp]. Problem II occurs frequently in ex-
perimental design. About Problem II, we refer the reader to references
[13, 14, [16].

The well-known matrix equation ([1.2)) with arbitrary coefficient ma-
trices A, B, C, D and the right-hand side F, has been studied actively
for the past 40 or more years. For instance, Baksalary and Kala [6] pre-
sented a condition for the existence of a solution and derived a formula
for the general solution of the matrix equation (1.2). Chu [7] gave the
consistency conditions and the minimum-norm solution by making use of
the generalized singular value decomposition (GSVD). Huang and Zeng
[§] and Ozgiiler [9], respectively, gave the solvability conditions over a
simple Artinian ring and a principal ideal domain by using the general-
ized inverse. Xu, et al.[TI0] gave the least-squares solution of the matrix
equation by making use of the canonical correlation decomposition
(CDD).Shim and Chen [I1] presented the least-squares solution with
the minimum norm by using the singular value decomposition (SVD)
and the GSVD. Liao, et al. [I2] studied the best approximate solution
of matrix equation basing on the projection theorem and using the
GSVD and the CCD simultaneously. In addition, Peng [13] presented
an efficient iterative method for solving the matrix equation by
making use of the idea of the classical CG method. The methods cited
in the above papers can find the solution X,Y of matrix equation in
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R™ ™, To our knowledge, however, no result exists about some certain
structured solutions, such as mirror-symmetric solution, of the matrix
equation . This paper represents a modest attempt to address this
situation.

In this paper, using the idea of the classical conjugate gradient method,
we present an iterative algorithm to solve Problem I. With it, the solv-
ability of the systems of matrix equations can be determined automat-
ically. When the matrix equation is consistent, for any initial mirror-
symmetric matrix pair [Xo, Yp], we will show that the mirror-symmetric
solution and the least norm mirror-symmetric solution of Problem I can
be obtained within finite iteration steps in the absence of roundoff er-
rors, (this will be done in Section 2). It is only required to compute a
residual matrix and update the iterative solution and gradient matrices
linearly in each iteration. In Section 3, the unique optimal approxima-
tion solution pair of Problem II to given matrix pair [X;¥] in Frobenius
norm will be obtained by finding the least norm mirror-symmetric so-
lution of the new linear matrix equation AXB + CYD = E, where
E=FE— AXB— CYD. Finally, we present several numerical examples
to illustrate the effectiveness of our algorithm.

2. An iterative method for solving Problem I

Here, we will construct an.iterative method to solve Problem I Then,
some basic properties of the introduced iterative method are described.
Finally, we show that the method is convergent.

Lemma 2.1. Suppose that X € RZrP)x2r+p)  Thenp,
X A= Wep) XWirp) € MS(p).

Proof. The proof is easily at hand using the definition, and so we omit
the details. O

Lemma 2.2. Suppose that A € RZ+P)*2r+P) gnd X e MS ). Then,

1
(4, X) = (G[A+ Wi p AWy X).

Proof. (%[A + W(np)AW(T’p)], X) = %[(A,X> + <W(r,p)AW(r,p)7 X)] =
%[<A7X> =+ <A7 W(r,p)XW(r,p)H = < 7X>‘ U
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Algorithm 1. Input matrices A € R*&+P) B e RErtp)xt ¢ ¢
Rx@hta) D e REMHDXE e R and Xo € MS(,.p), Yo € MS(q)-

Step 1: Calculate
Ry= E—-AXoB - CYyD;
Pyy,= ATRyBT, Py, = CTR\DT;

Qoe = 3(Poz+ WipPouWip)s Qoy = 3(Poy + WingPoyWing)
k:= 0;

Step 2: If R, = 0 then stop; else let k :=k + 1.
Step 3: Compute

_ | Rk—112
Xe = Xi T oL PGP Q-1

_ | Re—1 2 .
Yi = Y+ oL Prec P 91y
R, = E— AX.B - CY.D

_ _ | Re—1I? .
= B~ g PG, P ARk e B+ CQk1y D)
P.,= ATRyB”, P,,=CTR,DT;
Qo= 3(Pra+ Wiy PraWig) + ||Rk 1\\2Qk Las
Qry = 5(Pey + Wi PeyWing) + H H||2 Qr—1,y;
Step 4: Go to step 2.

Remark 2.3. ObViOUSly, Qk,x < MS(rjp), Qky eMS hyq)> X € MS(T,yp),
and Y, € MSyqy5for k =0,1,---, from Algorithm

In the next part, we will analyze properties of Algorithm [I, and then
we will prove that the process will stop after a finite number of steps.

Lemma 2.4. Suppose that the sequences Ri, Qir, Qiy(Ri # 0,i =
0,1,2,¢-- k) are generated by Algorithm . We have
(2.1)

<R7,7R]> - 07 <Qi,$7Qj,l‘> + <Qz’,y7Qj,y> = 07 (Zv.] - 07 1727 . '7k7i 7é .7)

Proof. We know that (A, B) = (B, A) for arbitrary matrices A, B €
R™ ™. Therefore, we only need to prove (R;, R;) =0 and (Q;», Qjz)+
(Qiy, Qjy) =0, for 1 <i<j<k. To this end, we use induction.
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Step 1. Show that (Ro, R1) =0, (Qox, Q1)+ (Qoy, Q1) =0 when
k=1.

(Ro, I1)
= (Ro, Ro— 1o ilo—(AQoaB + CQu,y D))
= IR0 |12 — oo (AT Ro BT, Qo)+ (CTRDT, Qo))
= [1Roll? = gl [(Pos Qo) + (o, Qom
= [1Roll? = oo [ (Poe + Wer Po.sWir)s Qoz)
(3 (Poy + Wing) Po,yW(h,q)), Qoy)]
= 1Ro]1? — o5 [(Qor Qo) + (Qoy: Qoy)]
= [|Ro|? = || Roll?
= 0.

(Qozy Quz) + (Qoy, Quy)
= Qo 5(Pra+ Wiy PLaWip) + HR ||2 2 Qo)
+(Qoy, %(Plyy + W(th)Pl,yW(h,Q)) + WQW)
= (Qoz, 3[Pra+ W) PrLaWepl)
+HQoy: 3lPry + Wing PraWang)) + |}%H2[
= Qo Pra) + (Qof Plyhat BL(l1Qoq? + HQo,yIIQ]
= (Qoy ATR1BT) 4(Qoy, CTRIDT) + Hﬁ;}}iw@oxuz +11Qo 1
= (AQo+B, R+ (CQuyD, Ri)+ il | 2)

<[+ 2 R
= [ toal (RG — B, Ra) + '}R;HQ[HQMHM Qs

o2+ 2 R
= -1l 2 ? + {2 1Qo0. P ’

wll’]

Step 2. Suppose that (2.4]) holds when k = v , and show for k = v 4 1:
<RU7 Rv+1> )
Ry
= (Bo B = o {tigryp (AQue B + CQuy D))

R
= || Ru|1* — W[MT}%BT, Quz) +(CTRyDT, Quy)]

R, %
= |Ro|l? — o [(Poss Qua) + (P Quy)]


www.SID.ir

Iterative method for mirror-symmetric solution

2
= |Ry||? - | R .

1
Qv 2+ Quy] <§( [ + W(rp)Pv CCW(TP)) Qv,x>
(

[

< vy"‘W(hq)P,yth) wa)]
. Ry 1Ry
- HRUHQ m“@ v,x T HR IIIHQQU 1,z va>

(

[|Ry|
Qv,y ‘}l{vlesz 1y Qv,y>]
= [|Ru]l? = |1 Ro|? =

(Quzs Quirz) + (Quys Quily)
= (Quas 3(Potia + Wip)Por12Wip) + f% sz>
+{(Quy, 5(Pot1y + Wing) Por1yWing) + R I Qo)
= (Quas 5(Posie + Wip)Por12Wirp))
HQuys 3(Potty + Wing) Por1yWing))
+HUE1Qu 2 12 + 1Quy I
= Qv Porra) +(Quys Porry) + el

= (Quz, ATRy41BT) + (Quy. CTRyi1DT)
P 11 212 + [[Quy I

= (AQu B, Ryy1) + (CQuyD, Ryy1) +

2 2
= W(R — Ryt1, Ropr) + 18

+1|Quyll’]

R 2
e 1Que 2 + 1Quy 17
2
HE[1Quall? + 1Quy 2]

v,T 2+ v, 2 R'u 2
= Qe H@eu By 12 + Lt [1Qu 22 + 1Qu 1]

=0.

Forj =1,2,...,v— 1, we have

<R]7 R’U+1> 9
Ry
= (R}, Ry~ gzt (AQueB + CQuyD))

R,|?
= el (AT RIBT, Qua) + (CTRDT, Quy)]
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Ryl|?
= _WKPLI: Qv,ac> < YRR Qv,y>]
R,|? 1
= — o= (3 (Pie + Wiy PraWirg)s Quge)
+<%( Jy+W(hq)Pij ) Qv,y)]
L RE . R
arartlar (@is — e Qi-tes Que)

+{Qjy — ”L\%R |1|H2 Qj-1y, Quy)l =0

<Qj,x7 Qv-‘rl,x) + <Qj,y7 Qv+1,y>

= (Qjar 5(Pogra + Wip)Por1.aWirp) + 13 - Qo)

+Qjys 3(Pot1y + Wi Pos1yWing) + R}% “ Qi)
= (Qjar 3[Pos1.2 + Wirp) Por1,Wirp)l)
HQjy» 3[Poriy + Wing) Por1,yWing))
HIBE(Q) 0, Qua) + (Qigr Quy)]
= (Qjar Pot1z) +(Qjy Boray)

= <Qj,$7 ATRU+1BT> + <Qj,y7 C Rv+1DT>
= <AQJ +B, Rv+1> —+ <CQJ yDa Rv+1>

2 2
HQ] au|||| -‘r”QJ wll <R “R. i1 Rv+1>
=0.

From step 1 and step 2, the conclusion (R;, R;j) =0 and (Qiz, Qjz) +
(Qiy, Qjy)y= 0hold, for all i, =0,1,2,...,k(i # j) by the principle
of induction. OJ

Lemma 2.5. Suppose that Problem I is consistent, and [X*,Y*]| is an
arbitrary solution of Problem I. Then, for any initial mirror-symmetric
matriz pair [Xo,Yy), the sequences X;, Yi, Ri, Q;n and Q;, generated
by Algorithm [1] satisfy

(22) (Qiaz, X' —Xi) +(Qiy, Y =Y;) = ”RiH2> (1=0,1,2....).
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Proof. We prove this by induction. For ¢ = 0,

(Qoz, X*—Xo)+(Qoy, Y*—Y0)
= (3(Poz + Wi p) PoaWirp)), X* — Xo)
+(3(Poy + WingPoyWing), Y — Yo)
= (Pyz, X*— Xo) + (Poy, Y* —Yp)
<ATRoBT X* — Xo) + (CTRyDT, Y* — )
= (Ro, A(X* = Xo)B) + (R, C(Y* —Yp)D)
— (Ry, AX*B+CY"D — AX,B — CY,D)
= (Ro, Ro)
= || Ro|*.

Suppose that the result holds for i = v(v > 0), that is, (Qy, X

Xp) + (Quy, Y* = Yy,) = || Ry||%. Then, for i =v+ 1,

<Qv+1,x7 X" — Xv+1> + <Qv+1,y7 Y — Yv+1>
2
= (3(Pos1e + W) Pog1.aWerp) + Hfﬁﬁ*ﬁﬁ Quvz)y X — Xyy1)

+(3(Pos1y + Win gy Por1.yWing) + ”fﬁ*ﬁ! Quy), Y = Yor1)
= <Pv+1 e X — Xv+1> + <Pv+1,y, Y* Yv-‘,—l)
R, .
+ Il |R+ﬁ|2| [<Qv T X’U—I—1> —+ <Qv,y7 Y* — }/1)-&-1)]
= (ATR, 11 BT, X*— Xyu1) + <C’TRU+1DT, Y* = Yyp1)
Ry e
+ Il |R+|1||2| [<Qv T v—|—1> <Qv,y7 _ }/U_HH

= (Ryy1, AX" = Xo11)B) + (Ry1, C(Y" = Yop1)D)
+UBBL (Qyr, X* — Xoi1) + (Quys Y™ — Yorn)]

= (Ryy1, AX*B+CY*D — AXy41B — CYy11D)
HE AL (Qy e, X7 — Xoi1) + (Quys Y™ = Yorn)]

= |[Rosal? + ”ffgjﬁ&' (Quar X*— X, — %Qm

* HRU
HQuy, V7 =¥ = ‘||Qm||2+|\QMH2QW>]

Ryy1]? *
= [ Roall? + L5 (Quar X* = X0} + (Quy, Y5 = Vo) — | Ro)?]

= | Ro1]l.

43
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By the principle of induction, the result (2.2)) holds for all: = 0,1,2, .. ..
]

Theorem 2.6. Suppose that Problem I is consistent. Then, for any
initial mirror-symmetric matriz pair [Xo,Yy], a solution of Problem I
can be obtained within at most st iteration steps by Algorithm [1}

Proof. If R; #0(: =0,1,2,...,st — 1), then Q;, # 0 and Q; 4 # 0, for
1=0,1,2,...,st — 1, from Lemma Therefore Qstz, Qsty and Rg
can be calculated by Algorithm [} Also, from Lemma 2.3, we can write

(Ri, Ry)=0, i=0,1,2,... st —1

and

(Ri, Rj)=0, 4,j=0,1,2,...,st —1,i 4 j.
So, the set composed of Ry, Ri, ..., Rs—1 is an orthogonal basis for
the matrix space R**! which implies that Ry = 0; i.e., [Xg, Y] is a
mirror-symmetric solution of Problem I. ([l

Remark 2.7. Theoretically, for any initial mirror-symmetric matrix
pair, a mirror-symmetric solution of Problem I 'can be obtained within
at most s X t iteration steps by Algorithm [I} but actually roundoff errors
is unavoidable in the process, and hence the solution of Problem I is
generally obtained in more than st iteration steps.

Theorem 2.8. Problem I is consistent if and only if there exists a non-
negative integer number k such that Ry, =0 or Qi # 0 and Qy,y # 0.

Proof. Suppose that there exists a nonnegative integer number k such
that Ry = 0. Then, Problem I is obviously consistent. If @, # 0 and
Qk,y # 0, then a mirror-symmetric solution of Problem I can be obtained
within at most st iteration steps from Theorem and so Problem I is
also consistent.

Conversely, suppose that Problem I is consistent. Then, there exists
a nonnegative integer number k, such that Ry = 0 or Qi , # 0 and

Qry # 0. Actually, if R # 0 and Qg = 0, Qky = 0, then Lemma [2.5]
is contradicted. O]

Remark 2.9. From Lemma [2.5] if there exists a nonnegative integer
number k such that Q. = 0 and Qp, = 0, but Ry # 0, then Problem
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I is inconsistent. Hence, the solvability of Problem I can be judged
automatically by Algorithm

Lemma 2.10. Problem I has mirror-symmetric solution if and only if
the following linear matriz equations is consistent:

{AXB+CYD:E,

(2'3) AW(T’p)XW(np)B -+ CW(h’q)YW(h’q)D =F.

Proof. Suppose that Problem I has a mirror-symmetric solution [X,Y].
Then, X' = W) XWerp), ¥ = Wing Y Wing), and

AXB+CYD = E,
AW(np)XW(T’p)B =+ CW(hg)YW(h’q)D =AXB+CYD=F.

Hence, the mirror-symmetric solution [X, Y] is a solution of the linear
matrix equations ; that is, the linear matrix equations is con-
sistent.

Conversely, suppose that the linear matrix equations is consis-
tent. Then, there exists a matrix pair [X, Y] (X € R p)x2r+p) 'y ¢
Rh+a)x(2h+a)) guch that

{AXB+CYD=E,

2.4 A .
( ) AW(T’p)XW(Typ)B + CW(h’q)YW(h’q)D =F.

Let X =
MS(h’q), and

XA Wiy X Wi p) -~
KW XWon Gpg y =

Y+Win.o)Y W)
——4—=>% Then X € MS(W), Y €

AXB+ YD = AX Ve Won gy oV WoaYWon

. AXBACY D+-AW(yp) X Wiy p) BACW () Y Win,g) D
- 2

_ E+E _
= EiE _ |,

Therefore, [ X, Y] is a mirror-symmetric solution group of Problem I. [

Remark 2.11. From Lemma [2.10, any mirror-symmetric solution of
the linear matrix equations ([2.3) must be a solution group of Problem
I. Therefore, if we want to prove that [X, Y] is the least Frobenius norm
mirror-symmetric solution of Problem I, then it is enough to prove that
[X,Y] is the least Frobenius norm mirror-symmetric solution of the lin-

ear matrix equations ([2.3)).
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The following lemma is derived from [16], and so we omit the proof.

Lemma 2.12. Suppose that the consistent system of the linear equations
Az = b has a solution x* € R(AT). Then, x* is a unique least Frobenius
norm solution of the system of linear equations.

Theorem 2.13. Suppose that Problem I is consistent. If we choose the
initial mirror-symmetric matrices Xog = ATHBT—i—W(T,p) (ATHBT)W(r’p),
Yo = CTHDT+W(h7q)(CTHDT)W(h7q), H arbitrary, or more especially,
let Xg = 0 and Yy = 0 with suitable dimensions, then the mirror-
symmetric solution [X*,Y ™| obtained by Algom'thm 1s the unique least
Frobenius norm mirror-symmetric solution of Problem 1.

Proof. From Theorem [2.6] if we take

Xo=ATHB" + W, ,,(ATHBT)W, ),
Yy = CTHD" + Wy, o (CTHDT)Wp, g,

where H is arbitrary, we can obtain the mirror-symmetric solution [X*, Y]
of Problem I, and [X™*, Y*] can be expressed as

X* = ATTBT + Wi p) (ATTBT)W(W),
V* =T TDY + W, (CTTD YWy, ).

where T' € R#*t. In the sequel, we will prove that [X* Y*] is the unique
least Frobenius norm mirror-symmetric solution of Problem I. From Re-
mark 3, we only prove that [X*,Y*] is the least Frobenius norm mirror-
symmetric solution of the linear matrix equations .

Linear matrix equations is equivalent to the system of linear
matrix equations
(2.5)

(BT®A DT C )(vec(X))

(BT"Wirp) @ (AW(rp) (DT W) @ (CWing)) vec(Y)

= (e )
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Noting that

vec(X*) \ [ vec(ATTBT + Wi p) (ATTBT)W(T,])))
vec(Y*) )~ \ vec(CTTDT + W, y(CTTDT YWy, )

[ BeAT (W4 ,B) @ (Wi ,)AT) vee(T)
T\ Dol (WyeD)® (WieyCh) vec(T)

_<BT®A DT C ) (U@C(T))
(BTWp) @ (AW ) (DTW. ) @ (CWpg) vec(T)

. < BT ® A DT C >T
(BIW(,.p) © (AW(, ) (DTWp ) @ (CWing)) '

Hence, from Lemmal[2.12] [vec(X*), vec(Y*)] is the unique least Frobe-
nius norm mirror-symmetric solution of the matrix equations . Since
vec operator is isomorphic, [vec(X™*),vec(Y™)] is the unique least Frobe-
nius norm mirror-symmetric solution of the linear /matrix equations
, and thus it is also the unique least Frobenius norm mirror-symmetric
solution group of Problem I. O

3. The solution of Problem I1I

Here, we show that the optimal approximation solution of Problem II
can be derived by first finding the least norm mirror-symmetric solution
of a new matrix equation.

Suppose that Problem I is consistent, and its mirror-symmetric solu-
tion set S is nonempty. Hence, for given mirror-symmetric matrix pair
[X,Y], we have

AXB+CYD=E& AX —X)B+C(Y -Y)D=E - AXB—-CYD

Set X=X -X,Y=Y-Y,and E=F — AXB — CYD. Then, Prob-
lem 1I is equivalent to find the least Frobenius norm mirror-symmetric
solution of the linear matrix equation

(3.1) AXB+CYD=FE

By using Algorithm I} and letting the initial matrix be Xy = 0, Y5 =0
in suitable dimensions, we can obtain the unique least Frobenius norm
mirror-symmetric solution [X*, Y*] of the linear matrix equations .
Once the above [X*, Y*] is obtained, the unique solution [X, Y] of the
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matrix nearness Problem II can be computed. In this case, X and Y
can be expressed as X = X*+ X, Y =Y*+Y.

4. Examples for the iterative method

Here, we present numerical example to illustrate the efficiency of the
proposed iteration method. All the tests are performed using Matlab 7.0
which has a machine unit round off precision of around 10716, Because of
computing error, the process will not stop within a finite number of steps.
Hence, we regard the approximation solution [X%, Y:] to be @ solution
of Problem I if the corresponding residual satisfies | Ry| < 10e — 010.

Example 1. Let

0 -2 1.3 1.5 0 -1 -1 5 4 3.4

-1 —-0.3 2 4 —0.5 1 -1 2 1 1.2

0 -2 3 0.5 0 -1 -1 1 1.9 —6

A= -1 -3 2 4 —0.5 1 -2 1 0.2 3
- 3 1.2 2 0 4.6 0 1 2 0 1.8 ’

—1 -3 2 1 -5 1 —2 1 1 5

2 —0.8 1 4.2 1.5 2.8 35 0.2 0.5 2.5

—-0.9 0.4 0.4 -0.9 0.6 1 0.7 14 -12 -0.7

—09 04 04 ~09 06 08 5
1.8 1.2 03. 08 08 5 18
1.5 0.7 0 05 —12 21 -4
-5 15 0 —03 720 08 -36
B 0.7 56 1 07 1.4 4 3
= —1.2 0.6 0 »-12 -07 17 5 )
2 4 —05 1 -2 1 2
0.4 04 =09 0.6 1 07 14
-1 -03 2 4 —05 1 41
1.5 —0.7 .0 0.5 1.6 21 —4
130 121 151 —59 99.6 120 87
143 —222 168 95 49 121 151
79 121 69 87 —89 —121 144
E— 120 211 82 —96 231 —98 120
~ —117 213 234 98 —89 120 211 )
200 —121 144 57 100 69 87
112 68 —86 83 64 211 82
212 221 182 —96 231 —98 —120

C— ones(3,4)  zeros(3,5)
-~ \ zeros(5,4) hankel(1:5) )’

toeplitz(1:5) ones(5,2)
zeros(4,5)  3ones(4,2) )’
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J3 J3
Wip) = ; Iy v W = ; I3 ;
3 3

where toeplitz(1 : n) and hankel(1 : n) denote the n-th order Toeplitz
matrix and Hankel matrix whose first rows are (1,2, --- ,n), respectively.
ones(n, m) and zeros(n, m) respectively denote the nxm matrices whose
elements are ones and zeros.

(I) Find the mirror-symmetric solution and the least-norm mirror-
symmetric solution of the matrix equation AXB + CYD = FE.

(IT) Let Sk denote the set of all mirror-symmetric solution of ma-
trix equation AXB + CYD = E. Denote K = toeplitz(1 : 10); L =
magic(9), and let

X =K + W(T’p)KW(np)

1 2 3 5.5 5.5 5.5 5.5 8 9 10

2 1 2 4.5 4.5 4.5 4.5 7 8 9

3 2 1 3.5 3.5 3.5 3.5 6 7 8

5.5 4.5 3.5 1 2 3 4 3.5 4.5 5.5

_ 5.5 4.5 3.5 2 1 2 3 3.5 4.5 5.5

- 5.5 4.5 3.5 3 2 1 2 3.5 4.5 5.5 )

5.5 4.5 3.5 4 3 2 1 3.5 4.5 5.5

8 7 6 3.5 3.5 3.5 3.5 1 2 3

9 8 7 4.5 4.5 4.5 4.5 2 1 2

10 9 8 5.5 5.5 5.5 5.5 3 2 1

Y =L+ WipgLWig

8.2 8.2 8 15. 8.2 1.4 8.2 8.2 8.2

8.2 8.2 8.2 6.9 8.2 9.5 8.2 8.2 8.2

8.2 8.2 8.2 6.0 8.2 10.4 8.2 8.2 8.2
14.3 6.2 7.1 4.0 6.2 8.4 7.1 6.2 14.3

e 8.2 8.2 8.2 6.0 8.2 10.4 8.2 8.2 8.2
2.1 10.2 9.3 8.0 10.2 12.4 9.3 10.2 2.1

8.2 8.2 8.2 6.0 8.2 10.4 8.2 8.2 8.2

8.2 8.2 8.2 6.9 8.2 9.5 8.2 8.2 8.2

8.2 8.2 8.2 15.0 8.2 1.4 8.2 8.2 8.2

From Lemma we know that X € M Ser
[X,Y] € Sg such that

)

IX - XIP+ Y =Y|*= min [|X-X|*+[|Y Y.
(X,Y]eSE

(I). Choose an arbitrary initial iterative matrix pair [Xo, Yp], where
Xo € MS.p) and Yo € MS(, 4, such as Xo = ones(10) and Yy =
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ones(9). By Algorithm (1, we have

—12.8344 —1.4268 —9.2204 4.5426 —4.9021 —9.6123 4.0051

4.9134 11.0713 1.7931 —6.4630 —17.0482 —8.9912 —9.3492

—2.4879 —9.0842 —20.9229 4.5123 —2.4561 —6.7207 3.8151

—1.6214 4.2922 10.4121 —4.9958 4.7209 4.4588 1.8047
X _ —0.4631 —4.1193 —7.8290 5.0554 5.8670 15.0789 —3.4014
120 — 4.3806 6.2396 2.1064 —5.0134 —18.3562 5.7664 —39.5967
—5.5744 —7.6941 11.5926 —0.5759 13.8524 0.1333 20.0304

11.5028 8.2197 2.4255 4.5123 —2.4561 —6.7207 3.8151

11.4781 17.5962 —2.0215 —6.4630 —17.0482 —8.9912 —9.3492

6.6383 9.3157 3.2470 4.5426 —4.9021 —9.6123 4.0051

3.2470 9.3157 6.6383
—2.0215 17.5962 11.4781
2.4255 8.2197 11.5028
10.4121 4.2922 —1.6214
—7.8290 —4.1193 —0.4631
2.1064 6.2396 4.3806 )
11.5926 —7.6941 —5.5744
—20.9229 —9.0842  —2.4879
1.7931 11.0713 4.9134
—9.2204  —1.4268 —12.8344

—5.5669 —6.7131 —9.0979 9.1966 —9.4912  —6.2543 16.0266
2.8884 1.7423 —0.6425 —1.6379 5.8628 2.2010 —2.7707
4.8196 3.6734 1.2886 —6.9047 19.3670 4.1322 —10.1262
—0.7924 —1.9386  —4.3233 3.4571 14.5716  —1.4798 —4.3233
Y120 = 1.6962 0.3936 —1.7968 19.3128 —1.3390 —7.8185 —1.7968
—5.9112 —1.9349 11.5889 —15.6114 —1.1189 4.0328 11.5889
2.6174 —1.2038 —10.1262 —6.9047 19.3670 4.1322 1.2886
1.5151 —1.6631 —2.7707 —1.6379 5.8628 2.2010 —0.6425
—3.7257 —3.0389 16.0266 9.1966 —9.4912 —6.2543 —9.0979

—3.0389 =3.7257
—1.6631 1.5151
—1.2038 2.6174
—1.9386  —=0.7924
0.3936 1.6962
—1.9349  —5.9112
3.6734 4.8196
1.7423 2.8884
—6.7131 —5.5669

By concrete computations, we have
Ri9o = 2.9396e = 011, || X120 + [|Y120]| = 156.8131,
and we can further get
X120 — Wipp) X120Wo )| = 1.6220e — 013,
Y120 = Wi.q)Y120W )|l = 4.3010e — 014.

So, [X120,Y120] is regarded to be a mirror-symmetric solution of the
matrix equation AXB+CYD =FE.
If we let the initial matrix pair be

Xo=A"HB" + W, ,(ATHB")W,, ),
Yo =CTHD" + W, o (CTHDT )W, o),
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where H = eye(8,7), then by the Algorithm [1| we have

X191 =

Yio1 =

and

—12.6654
4.0979
—2.8617
—1.6848
—0.3882
3.7978
—5.8683
11.0834
10.8405
6.9216

—6.1046
3.0297
4.5912

—1.3837
1.5988

—5.9820
2.7470
1.1654

—3.9390

—1.5153 —9.1239 4.7177 —5.2634
10.5115 1.4469 —6.3556  —17.2289
—8.6098 —21.1405 3.9250 —1.3432
4.7034 10.5063 —5.3446 5.3525
—3.9547  —7.8273 4.6750 6.6536
5.8318 1.7258 —5.0566 —18.2256
—7.8724 11.3957 —0.3635 13.5397
8.4042 2.3992 3.9250 —1.3432
17.2484 —2.4373  —6.3556 —17.2289
9.4288 3.3627 4.7177 —5.2634
3.3627 9.4288 6.9216
—2.4373 17.2484 10.8405
2.3992 8.4042 11.0834
10.5063 4.7034 —1.6848
—7.8273 —3.9547  —0.3882
1.7258 5.8318 3.7978 ’
11.3957 —7.8724  —5.8683
—21.1405 —8.6098  —2.8617
1.4469 10.5115 4.0979
—9.1239 —1.5153 —12.6654
—7.3241 —9.7151 9.3482 —=9.8904
1.8103 —0.5808 —1.5531 5.4715
3.3717 0.9807 —6.8005 19.2832
—2.6031 —4.9942 2.7489 13.9215
0.2951 —1.7956 19.1879 —1.3822
—1.9777 11.3988 —15.7560 —0.9684
—1.0788 —10.1172 —6.8005 19.2832
—1.6985 —2.8471 =1.5531 5.4715
—2.8659 15.9449 9.3482 —9.8904
—2.8659 - —3.9390
—1.6985 1.1654
—1.0788 2.7470
—2.6031 —1.3837
0.2951 1.5988 s
—1.9777  —5.9820
3.3717 4.5912
1.8103 3.0297
—7.3241 —6.1046

Rio1 = 9.3519¢ — 011,
| X101 || 4 [|Y121]| = 152.7857 < 156.8131,
[ X121 — Wiy X121 Wiy || = 1.7760e — 013,
Y121 = Wip ) Y121 Wi g | = 4.4697e — 014.

51
—9.2547 4.2326
—9.8456  —9.1222
—7.4618 3.0554
4.3139 1.2927
15.1534 —3.8814
5.3286 —39.5504
—0.5625 20.2510
—7.4618 3.0554
—9.8456  —9.1222
—9.2547 4.2326
—=6.9936 15.9449
2.1407 —2.8471
3.7022 —10.1172
—2.2727 —4.9942
—7.4342  —1.7956
4.3709 11.3988
3.7022 0.9807
2.1407 —0.5808
—6.9936  —9.7151

Hence, [X121, Y101] is regarded to be the least-norm mirror-symmetric
solution of matrix equation AXB +CYD = E.

If we let Xg =0 € R'9%10 and Yy = 0 € R9%?, using Algorithm 1| we
can obtain the least-norm mirror-symmetric solution of matrix equation
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AXB +CYD = F as follows:

—12.6654 —1.5153  —9.1239 4.7177 —5.2634  —9.2547 4.2326

4.0979 10.5115 1.4469 —6.3556 —17.2289 —9.8456 —9.1222

—2.8617 —8.6098 —21.1405 3.9250 —1.3432 —7.4618 3.0554

—1.6848 4.7034 10.5063 —5.3446 5.3525 4.3139 1.2927

X _ —0.3882 —3.9547  —7.8273 4.6750 6.6536 15.1534 —3.8814
110 — 3.7978 5.8318 1.7258 —5.0566 —18.2256 5.3286 —39.5504
—5.8683 —7.8724 11.3957 —0.3635 13.5397 —0.5625 20.2510

11.0834 8.4042 2.3992 3.9250 —1.3432 —7.4618 3.0554

10.8405 17.2484 —2.4373 —6.3556  —17.2289 —9.8456 —9.1222

6.9216 9.4288 3.3627 4.7177 —5.2634  —9.2547 4.2326

3.3627 9.4288 6.9216
—2.4373 17.2484 10.8405
2.3992 8.4042 11.0834
10.5063 4.7034 —1.6848
—7.8273 —3.9547  —0.3882
1.7258 5.8318 3.7978 )
11.3957 —7.8724  —5.8683
—21.1405 —8.6098  —2.8617
1.4469 10.5115 4.0979

—9.1239 —1.51563 —12.6654
—6.1046 —7.3241 —9.7151 9.3482 —9.8904 —6.9936 15.9449
3.0297 1.8103 —0.5808 —1.5531 5.4715 2.1407 —2.8471
4.5912 3.3717 0.9807 —6.8005 19.2832 3.7022 —10.1172
—1.3837 —2.6031 —4.9942 2.7489 13.9215 —2.2727  —4.9942
YIlO = 1.5988 0.2951 —1.7956 19.1879 —1.3822 —7.4342 —1.7956
—5.9820 —1.9777 11.3988 —15.7560 —0.9684 4.3709 11.3988
2.7470 —1.0788 —10.1172 —6.8005 19.2832 3.7022 0.9807
1.1654 —1.6985  —2.8471 —1.5531 5.4715 2.1407 —0.5808
—3.9390 —2.8659 15.9449 9.3482 —9.8904 —6.9936 —9.7151

—7 3241 —6 1046

and we have
|Ri10]l=2.1067¢ — 011, || X110 + || Yi10]| = 152.7857.

(IT) In order to find the optimal approximate solutions to given matrix
pair [X,Y],let X =X -X,Y =Y -Y, E=FE— AXB - CYD, and
iterate 118 steps. Then, we can obtain the least-norm mirror- symmetric
solution [X 118, Y 118) of the matrix equation AXB+CYD = E by
choosing the initial iterative matrix X = 0, ¥ = 0 in 1 suitable dimen-
sions. To save space, we shall not report the date of X*Hg and Y*Hg,
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but will make them available upon request. Then, the optimal approxi-
mate solution [X, Y] can be expressed as:

X =X*118+X
—15.6252
8.6823
0.4917
0.4279
—0.5246
6.9876
—5.7068
13.1741
15.6661
5.3065

Y =Y*11584+Y
—2.2171
2.1991
4.2704
9.7553
2.1843
—8.3694
4.5109
3.5065
—2.8855

with the minimum,

—0.8352 —9.4674 3.7689 —3.4859
13.2198 2.5517 —8.4811 —14.4880
—12.2154 —20.3244 7.9298 —8.8334
2.9758 9.4895 —2.3833 0.3376
—5.1232 —9.1928 6.2355 3.1269
6.8229 1.3293 —5.2572 —18.5363
—6.2600 10.5866 —1.4444 18.1366
5.5555 1.7077 7.9298 —8.8334
18.3224 0.3863 —8.4811 —14.4880
9.7053 4.2965 3.7689 —3.4859
4.2965 9.7053 5.3065
0.3863 18.3224 15.6661
1.7077 5.5555 13.1741
9.4895 2.9758 0.4279
—9.1928 —5.1232 —0.5246
1.3293 6.8229 6.9876
10.5866 —6.2600 —5.7068
—20.3244 —12.2154 0.4917
2.5517 13.2198 8.6823
—9.4674 —0.8352 =15.6252
—2.8335 —4.8400 12.0123 —9.3036
1.5827 —0.4238 —3.1004 7.5822
3.6540 1.6475 —7.0590 20.5729
1.0390 —0.0675 4.4932 17.7133
0.7233 —0.7712 16.8608 0.9408
—0.1331 12.7569 —13.6853 —2.6245
—2.4037 —10.5838 —7.0590 20.5729
—2.3679 —3.1926 —3.1004 7.5822
—2.6541 16.6278 12.0123 —9.3036
—2.6541 —2.8855
—2.3679 3.5065
—2.4037 4.5109
1.0390 9.7553
0.7233 2.1843 ,
—0.1331 —8.3694
3.6540 4.2704
1.5827 2.1991
—2.8335 —2.2171

—10.8982
—4.9077
—4.3524

4.5902
13.3938
4.9872
0.4211
—4.3524
—4.9077
—10.8982

—7.1310
5.3852
8.3565
5.7415

—6.9919
4.3545
8.3565
5.3852

—7.1310

2.5761
—11.3101
8.6673
6.0586
—0.9210
—39.5965
17.1217
8.6673
—11.3101
2.5761

16.6278
—3.1926

min [IX=X|?+[|]Y =Y|*] = |X = X|*?+ ||V — Y| = 187.6832.

[Xzy]ESE

5. Conclusions

Mirror-symmetric matrices, which are the interaction matrices of mirror-
symmetric structures, have already been thoroughly investigated by Li
and Feng [2] 3, [4]. Here, we mainly studied the mirror-symmetric solu-
tion of the well-known matrix equation AXB +CYD = E.
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With the proposed extended CG method (Algorithm , when the
equation is consistent, it is shown that theoretically for any initial mirror-
symmetric pair [ X, Yp], a solution is obtained within st iterations, where
s and t denote the size of the matrix E. Moreover, it was shown that the
unique least Frobenius norm mirror-symmetric solution was obtained by
special choices of initial mirror-symmetric iteration matrices, especially
the zero matrices. Several numerical examples were presented to illus-
trate the theory in action.
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